College Algebra — Joysheet 1 Name: Sahf acemn
MAT 140, Spring 2024 — D. Ivansié

Covers: JIT 6, 7, 12, 14, 15, 17

Show all your work!
Write interval notation and sketch on the number line.
1. (3pts) {z|z > 3}

2. (3pts) {z| —1<z <6}
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Solve the equations.
3. (3pts) 2x—1=4z—5 [+F 4. (dpts) 3(2—-3)+1=2(1-1)—4
2x+4= 2 [~ix -G +| 2 2-~%
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Simplify and write in standard form: i3 ¥ T
5. (4pts) (z+3)? =22z —-T7) =

= X2gx 4G ~ 274X

= =X+ [SxH6x+ 9

6. (dpts) (z—3)(z+9) +3z(z—4) =
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Simplify and write the answer so all exponents are positive:

7. (pts) By = b= 64b7
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Factor the following.
12. (4pts) 32_51:—]4:(}{-—‘})(:“1} 13. {ths} 24 Jdp — 3= (Jlf-l- f::)(f——l)
prod==1% 74 pred = ~ 31 6
St -1 : Shewcs 1,1, !

’ Use the ac-method or another method to factor. Show how you got your answer.
14. (6pts) 22° — 5z —12= 15. (6pts) 622+ Tz —10 =
Fpm_. N-n)r=-24 _3'31 E:i{*: gfufﬁ}:—én | 2 ;5'1]
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